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Derivative Forms 
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Unit Step Functions 
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Fourier Series 

଴2ܽ~(ݔ)݂  +෍ܽ௡ cos ݌ݔߨ݊ + ܾ௡ sin ஶ݌ݔߨ݊
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 ܽ଴ = න݌1 ௣ݔ݀(ݔ)݂
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 ܽ௡ = න݌1 (ݔ)݂ cos ݌ݔߨ݊ ௣ݔ݀
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 ܾ௡ = න݌1 (ݔ)݂ sin ݌ݔߨ݊ ௣ݔ݀
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Sine Series 
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 ܾ௡ = න݌2 (ݔ)݂ sin ݌ݔߨ݊ ௣ݔ݀
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Cosine Series 

଴2ܽ~(ݔ)݂ +෍ܽ௡ cos ஶ݌ݔߨ݊
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An Important Trigonometric Identity

cos(ܽ + ܾ) = cos(ܽ) cos(ܾ) − sin(ܽ) sin(ܾ)sin(ܽ + ܾ) = sin(ܽ) cos(ܾ) + cos(ܽ) sin(ܾ) 
 ܿଵ sin(߱ݔ) + ܿଶ cos(߱ݔ) = ݔ߱)݊݅ݏܣ + ܣ (߶ = ටܿଵଶ + ܿଶଶ ߶ = tanିଵ ൬ܿଶܿଵ൰ 

Note: (1) to calculate ߶ properly,	ܿଵ must be the  
constant assigned the sin(߱ݔ) and ܿଶ must be 
the constant assigned the cos(߱ݔ).  (2) If ܿଵ < 0 , 
add ߨ to the answer provided by your calculator. 
 

 



 


